6 |-
29 3 A+ T
= 3(><Q—7Xf l&) -

=
= §(><-3)()<—‘/)
SO 5k 5 /0 o2 2
- 5/><9\——><—9\> & ~|
- §(X+l) (x—&\
3¢ 3K« Isk - 19k o

© = 2,3
- Fh(K sk -6) ©7F

- Sk k-D(k+6)



y()u o %Q%’}%%B}g%

- V-5 %

o, 2-7-8 B 2
- [& +{)(a—<g)

49
2 O4Ys & af
1L+ 92 & 2 316
712
ot Techorale L 6, &
' X o \, (O
73. %"= 20x < 100 % lc_j&o };)(g%
- (el ) s
CX /O>(; (D> 5, RO
= Cx—(c>> o, -0
_ =
s, x* U =) g/ ;2:—;1
Vot Leclorable
MNade wp Q\Xa—% [OX . 2‘_‘ L
_ P! . CO(2 ’
(Xt Ex < ) . ;;;g

(ot Fesker onyrore



= X;\f Ci( SN
G)At‘_ (Xﬂc(f)/)(%_é")

@ Ar-‘- (K’f‘/-l)(éc-e4—~|)
b (el

) A= P iy t Sx ok
A= 2 ()

8.4 pg RT3 4 (8- ¢ 9

@Q@
@ 9

2, to

=



